1/0;do/dAg [pi/rad]

Ratio to ATLAS

=
(@)
N

=
(@)

1072

1073

[EEY

0.5

7000 GeV pp Jets
|

Rivet 3.1.0, = 5.1M events

m ATLAS
--G-- Herwig++ 2.7.1 default

= --3-- Herwig 7.2.0 default =
e ¢ Sherpa 2.2.8 default ,;! —
L B
o " -
-
= o o =
— W’,i ]
: i z C';W“; ’ :
s ,;’m/ -
= e i =
— . APr -
— "//’i& |
N R i
| .-/‘ﬁ,

= v 3
= | | . . . | . . | E
:I -.‘I | T T T | T T T |:
— ¢ -
H = -
I ’ _________ ]
: (:9 __________ R 1 ,_:é __@ ----- '@"%‘ :

: &5 Bk AT B e U e

; g 8 Q- o -REGk ot 5,@@_;1%_

K |

0.6 0.8 1
A [rad/pi]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


